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An ¢
Swer the following questions * 1x7=7
difference

(@
) State one fundarﬂent R
between a spherica! triangle and 2 P2

(b triangle. s
) Define polar triangle and its primitive
() triangle. iy
Mention one property of pole ofa g
(d circle. :
) What is the reaso? of the oval shape ®
the sun eing?
at risingr h
g o o
significance of Kepler's secont
motion '
) i od
i Define orbital period d synodi© pert
of a
(s planet. i
3 What is the declination of th€ pole
eclint]
cliptic? ( Turn over )
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I

2. An
Swe
I the followin . )
g questions : yia

(@ D

rawin

OTiZOnfala : cat diagram, discus hov
body 4r, Oordinates of a heave

(b) Pr
ove th .
. e that section of 4 sphere by & P"

(C) Sh
ow
t -
declinati}c:t right ascension ¢ and
R 6 of the sun is alwd®

neCt
et(:j Rithe equation
a 2L
€ being obll-16 =tanesina
'quity of the ecliptic-
{0

The

appar
ref.raction nt altitude of a staf du®
alt.ltude I8 30°. Calculate th® i
Coefficient of refractjon

(d)

(a)
A
Port .
S in . d
(“iatltude l (north) at;e
est). Show th?
of 1 gtor
ro places on the €4
M the port are

(b Ateos-
) Whatd 0s l(COSSSeC l)

of g Sy oy

S In
a startar? roy €an by rising and
Wb ie that the hour an®
Me of setting is give?

inb
set?”
ol
by

COS

\\tanq)tans /I; A

(c)

cosv =

(@)

(e)

D«
€ri )
_1Ve cosine formul

(3)

Prove that

Sostie
l—ecosE

1-ecosE

where v is th
eccentric anomaly at
planet in its orbit.

estial Jatitude &
m and P her
de and Jatitude
motion of the

If A is the moon’s cel
instant of oppositior
hourly motions in Jongl
respectively, s the hourly
sun in longitude &
diameters of the moon
earth’s shadow, sho"
of the lunar ecliPs® is
between the two 100t of &
c2 = (- pt)’ +(rn’5)2t2

_ Show that

heavenly body

Define geocentric par
f :
arent zenith

geocentric paralla® o
varies as the sin¢ of its @P
distance.

Angle. In an equilat®’

(i)
(ii)
9
/
M

5 prove the followind :

QCOSE.Siné =1
2 & 6+4=10
SecA =1+secd

( Turn over )
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S. (@) Derive the formula for refraction

R=ktant  of
L1 g tame
C being the apparent zenith distan

1 itaﬁon /
heavenly body. Mention one lim 5t
of this formula.

fa
. esO
b 1 % and z, are the zenith distanc

. Ati0
inat!
Star at Upper and lower Cum;e side
respeCtively which are on oppos
of the Zenith, prove that g
-7
Z3
8 =90°~¥ and ¢ =90°-—25—

ar
tar
Where § iq the declination of the S¥_

serV
0is the latitude of the place of ok

thﬂ
Deﬁne

that 9
..~ Solar ecliptic limits. Show 00
inimyp Ngular distance D, of the Jip®
and 8 e

d

Su of solaf

Will pe i fOr occurrence

Dy =Bcos j o |
Whe g . ols p.

re tanJ=1ta;\I::l the other symP 2*3
Usyg) meanings_
Or o |
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*Ngituge and latitude. |
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